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Name: __________________________________



1
On the set of axes below, triangle ABC is graphed.  Triangles [image: image1.png]ABcC



 and [image: image2.png]A'B'cm



, the images of triangle ABC,  are graphed after a sequence of rigid motions.

[image: image3.png]<





Identify which sequence of rigid motions maps [image: image4.png]MABC



 onto [image: image5.png]MNA'BC



 and then maps [image: image6.png]MNA'BC



 onto [image: image7.png]M4BT



.

	1)
	a rotation followed by another rotation

	2)
	a translation followed by a reflection

	3)
	a reflection followed by a translation

	4)
	a reflection followed by a rotation



2
Triangle ABC and triangle DEF are graphed on the set of axes below.

[image: image8.png]



Which sequence of transformations maps triangle ABC onto triangle DEF?

	1)
	a reflection over the x-axis followed by a reflection over the y-axis

	2)
	a 180° rotation about the origin followed by a reflection over the line [image: image9.png]




	3)
	a 90° clockwise rotation about the origin followed by a reflection over the y-axis

	4)
	a translation 8 units to the right and 1 unit up followed by a 90° counterclockwise rotation about the origin



3
On the set of axes below, congruent triangles ABC and DEF are drawn.

[image: image10.png]



Which sequence of transformations maps [image: image11.png]MABC



 onto [image: image12.png]MNDER



?

	1)
	A counterclockwise rotation of 90 degrees about the origin, followed by a translation 8 units to the right.

	2)
	A counterclockwise rotation of 90 degrees about the origin, followed by a reflection over the y-axis.

	3)
	A counterclockwise rotation of 90 degrees about the origin, followed by a translation 4 units down.

	4)
	A clockwise rotation of 90 degrees about the origin, followed by a reflection over the x-axis.



4
In the diagram below, [image: image13.png]MABC = ADEF



.

[image: image14.png]



Which sequence of transformations maps [image: image15.png]MABC



 onto [image: image16.png]MNDER



?

	1)
	a reflection over the x-axis followed by a translation

	2)
	a reflection over the y-axis followed by a translation

	3)
	a rotation of 180° about the origin followed by a translation

	4)
	a counterclockwise rotation of 90° about the origin followed by a translation



5
Triangles ABC and RST are graphed on the set of axes below.

[image: image17.png]



Which sequence of rigid motions will prove [image: image18.png]


?

	1)
	a line reflection over [image: image19.png]




	2)
	a rotation of 180° centered at [image: image20.png]




	3)
	a line reflection over the x-axis followed by a translation of 6 units right

	4)
	a line reflection over the x-axis followed by a line reflection over [image: image21.png]






6
On the set of axes below, [image: image22.png]ALET



 and [image: image23.png]AL"E"T"



 are graphed in the coordinate plane where [image: image24.png]ALET = AL"E"T"



.
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Which sequence of rigid motions maps [image: image26.png]ALET



 onto [image: image27.png]AL"E"T"



?

	1)
	a reflection over the y-axis followed by a reflection over the x-axis

	2)
	a rotation of 180° about the origin

	3)
	a rotation of 90° counterclockwise about the origin followed by a reflection over the y-axis

	4)
	a reflection over the x-axis followed by a rotation of 90° clockwise about the origin



7
In the diagram below, ABCD is a rectangle, and diagonal [image: image28.png]BD



 is drawn.  Line [image: image29.png]


, a vertical line of symmetry, and line m, a horizontal line of symmetry, intersect at point E.

[image: image30.png]



Which sequence of transformations will map [image: image31.png]MABD



 onto [image: image32.png]ACDB



?

	1)
	a reflection over line [image: image33.png]


 followed by a 180° rotation about point E

	2)
	a reflection over line [image: image34.png]


 followed by a reflection over line m

	3)
	a 180° rotation about point B

	4)
	a reflection over [image: image35.png]DE







8
On the set of axes below, [image: image36.png]MABC



 has vertices at [image: image37.png]A(=2,0)



, [image: image38.png]B(2,-4)



, [image: image39.png]


, and [image: image40.png]MNDER



 has vertices at [image: image41.png]


, [image: image42.png]E(-4,8)



, [image: image43.png]


.

[image: image44.png]>





Which sequence of transformations will map [image: image45.png]MABC



 onto [image: image46.png]MNDER



?

	1)
	a dilation of [image: image47.png]MABC



 by a scale factor of 2 centered at point A

	2)
	a dilation of [image: image48.png]MABC



 by a scale factor of [image: image49.png]


 centered at point A

	3)
	a dilation of [image: image50.png]MABC



 by a scale factor of 2 centered at the origin, followed by a rotation of 180° about the origin

	4)
	a dilation of [image: image51.png]MABC



 by a scale factor of [image: image52.png]


 centered at the origin, followed by a rotation of 180° about the origin



9
A sequence of transformations maps rectangle ABCD onto rectangle A"B"C"D", as shown in the diagram below.

[image: image53.png]



Which sequence of transformations maps ABCD onto A'B'C'D' and then maps A'B'C'D' onto A"B"C"D"?

	1)
	a reflection followed by a rotation

	2)
	a reflection followed by a translation

	3)
	a translation followed by a rotation

	4)
	a translation followed by a reflection



10
Identify which sequence of transformations could map pentagon ABCDE onto pentagon A”B”C”D”E”, as shown below.

[image: image54.png]B

£




	1)
	dilation followed by a rotation

	2)
	translation followed by a rotation

	3)
	line reflection followed by a translation

	4)
	line reflection followed by a line reflection



11
On the set of axes below, pentagon ABCDE is congruent to A"B"C"D"E".

[image: image55.png]><
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Which describes a sequence of rigid motions that maps ABCDE onto A"B"C"D"E"?

	1)
	a rotation of 90° counterclockwise about the origin followed by a reflection over the x-axis

	2)
	a rotation of 90° counterclockwise about the origin followed by a translation down 7 units

	3)
	a reflection over the y-axis followed by a reflection over the x-axis

	4)
	a reflection over the x-axis followed by a rotation of 90° counterclockwise about the origin



12
In the diagram below, congruent figures 1, 2, and 3 are drawn.

[image: image56.png]



Which sequence of transformations maps figure 1 onto figure 2 and then figure 2 onto figure 3?

	1)
	a reflection followed by a translation

	2)
	a rotation followed by a translation

	3)
	a translation followed by a reflection

	4)
	a translation followed by a rotation
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6
ANS:
3

1) and 2) are wrong because the orientation of [image: image57.png]ALET



 has changed, implying one reflection has occurred.  The sequence in 4) moves [image: image58.png]ALET



 back to Quadrant II.
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